Cylinder Accessory

How to Order?
FJ: Accessory M6: M6 M20: M20 1: 1 I1J: |fitting
M8: M8  M27: M27 1.25: 1.25 YJ: Y fitting(PIN)
M10: M10 M36: M36 15: 1.5 YCJ: Y fitting(PIN+CLIP)
M12: M12 M42: M42 2.2 FD: Floating fitting
M16: M16 M48: M48 BJ: Bearing fitting
Dimensions of Cylinder Accessory
Model/Sign | NA|NB|NC| ND [NE| NH |NM| NP | NQ [Materal
FJ-M6X1YJ | 10 (12| 6 | 24 | = | wmex1 | 6 | 12| 31 [canonseet
S FJ-Mex1.25vJ | 14 [16] 8 [ 32 | - [ mext.25] 8 | 16 | 42 [oatense: ~NE
CFJ-M10x1.25YJ | 18 [ 20 [ 10| 40 | - [ mtox1.25] 10 | 20 | 52 Joutonsee: NM 328 ONB
TFRJ-Mi2x1.25YJ | 20 [24 [12] 48 | - [ m12x1.25] 12 | 24 | 62 [catonsee: ‘ Y
T FJ-M16X1.5YJ | 26 [32 [ 16| 64 | - | M16X15] 16 | 32 | 83 [catense @
OY Fitting  FJ-M20X1.5YJ | 34|40 [20] 80 | - | M20X1.5] 20 | 40 | 105 casonsee: B ‘
Fy-M27x2YJ | 4265 [ 30| 110] - | merx2 [30 | 65 | 148 ]comets: gz NI |
FJ-M36X2YJ | 60 | 70 | 35 | 144 | — | M3ex2 | 35 | 72 | 188 ]catonseet e ‘ 2 L
FJ-Ma2x2YJ | 7085 [ 40 [ 168 ] — [ maox2 [ 40 [ 84 [ 232[catonsest ‘ ‘
T FJ-m4sx2YJ | 80 [ 90 [ 50 [ 192 - | m4sx2 | 50 | 96 | 265 [carenseet
TFM12X1.25Y0T8q 21 | 25 | 12 | 48 | 23 | M12X1.25] 12 | 22 | 60 |owonses: [NH PNA
“FJ-M16X1.5YJ-T80| 28 |32 | 16 | 62 | 30 | M16X15] 16 | 30 | 78 [ ceisea:
FJ-M20X1.5YJ-TB¢| 36 | 40 | 20 | 79 | 38 | M20X1.5] 20 | 39 | 90 | cessus
Model/Sign | NA [ NB | NC | ND NH NM | NP | NQ|Material LINB
© FJ-MBX1YCJ 10| 12| 6 [ 24| Mext | 6 | 12 | 31 [casonseet
CFJM8x125YC) [ 14| 16 8 [ 32 [ M8X1.25 | 8 | 16 | 42 |casmse: In | @
OYC Fitting :_FJ-M10X1.25YCJ | 18 | 20 | 10 | 40 | M1OX1.25 | 10 | 20 | 52 |omonse g = g5 T
T FMi2x1.25vC) | 20 | 24 [ 12| 48 | mi2x1.25] 12 | 24 | 62 [casonsee = 0
CF-misxisves | 26 | 3216 | 64 | mMiex1.5 | 16 | 32 | 83 [casonseet &l o \ £
T FJ-M20X15YCJ | 34 | 40 | 20 | 80 | M20X1.5 | 20 | 40 | 105]casonsee:
 FJ-M27X2YCJ 42 | 55 | 30 [ 110 M27X2 30 55 | 148]catonseet ON,
© Model/Sign | NA|NC| ND | NE | NF | NG NH | NM|Material NM 3%
S FJ-MeX11J 12] 624 31 [ 12 10| MeX1 | 6 [cownsest - _ ONC
. TFJ-MBX1.25l) | 16| 8 | 30 | 40 | 11 | 15 | MBX1.25 | 8 |camonseet -
(¢ o TFJ-M10X1.2510 | 20 | 10| 40 | 52 | 15 | 20 | M10X1.25| 10 |caronseet 4 {?
o TFJ_M12X1.2510 | 24 [ 12| 48 | 67 | 24 | 20 | M12X1.25] 12 |canonseet R
Ol Fitting TFJ-M16X1.5l) | 32 | 16] 64 | 89 | 32 | 23 | M16X15 | 16 |cumue: 2g L 1L
TFJ—M20x1.5l0 | 40 [20] 80 [ 112 40 | 30 | M20X1.5 | 20 [casonsee: i
TFJ—M27X21J 55|30 110[ 155 | 50 | 55 | M27X2 | 30 [catonseer g i
“FJ-M12x1.2510-186 [23.5] 12| 48 | 60 | 24 [ 20 | M12X1.25] 12 [canonseet o
CFU-M16X1.51J-T8C [28.5] 16 | 62.5] 78.5 [ 315] 25 | M16X1.5 | 16 [cotmsee oA
“FJ-M20X1.510-T8C | 38 | 20| 81 | 100 | 37.5] 30 | M20X1.5 | 20 |caronseet
Model/Sign | MA | MB |MC| MD | ME [MF|MG|MH| MimJ
FJ-M3X0.5FD  [235[7.5| 3 [ 15 [12.8]5.5/2.4] 4 [M3X0.5
FJ-M4X0.7FD_| 26 [9.5| 3 [ 17 [12.8] 6 | 3 [ 4 [wax0.7
FJ-M5X0.8FD_|34.5[13.53.5[22.8[13.8] 8 | 4 [ 6 [M5x0.8
FJ-M6X1.0FD_|34.5[13.5|3.5[22.8[13.8] 8 | 4 [ 6 [M6X1.0
Model/Sign MA | MB [ MC [ MD | ME [MF |MG [MH| MiMJ (MK
FJ-Msx1.25FD | 51 | 20| 6 | 17| 24 |105] 6 | 8 | M8X1.25 |13 : I
FJ-M10X1.25FD | 58 |22 | 7 [21 [ 26|11 6 [10|m10x1.25[12 . W
FJ-M12X1.25FD | 58 | 22| 8 | 21| 28 [11.5] 7 [12|M12X1.25[12: o oa
FJ-M14X1.5FD | 70 |22.5] 8.5 28 [34.5] 16 | 8 [15|m14x1.5[12:
FJ-M16X1.5FD 90 |27 [ 10| 41 [445] 19 [ 8 |17 m16x1.5
FJ-M18X1.5FD 92 [ 27 [ 10| 41 [445] 21 [ 11 [18[ m18x1.5
FJ-M20x1.5FD | 102 | 29 | 13| 46 | 53 [ 22 | 10 [22] m20x1.5
FJ-M22x1.5FD | 108 | 32 | 13 | 46 | 53 | 25 | 13 [ 22| mM22x1.5
FJ-M26X1.5FD | 120 | 32 [14.5|52.5|59.5 25 | 13 | 27| m26x1.5
FJ-M27x2.0FD__|136.5] 40 [14.5]52.5|59.5] 40 [13.5] 27 [ M27x2.0
FJ-M36X2.0FD__|194.5[ 60 [20.5[77.5] 84 | 54 | 18 [36] M36X2.0
Model/Sign | A | B | c |D|E]| G H I J] KL
¢ FJ-Mex1BJ [405| 31| 11 |20] 6 Mex1 [13]18] 11| 9
: TFJ-MBX1.25BJ | 48 | 36 | 12 |24] 8 | 7.5 | M8X1.25 [16]20] 14 |12
I TFJ-M10X1.25BJ [57.5| 44 |155|28[10] 8 |M10X1.25[19|25] 17 |14
OBearing Fitting : TFJ-M12x1.25BJ [66.5]51.5| 17 [32]12] 9.5 [m12x1.25[22[25] 19 [16
: T FJ-M16X1.5BJ | 85 | 65 | 25 [40[16] 11 [m16X15 [27]35] 24 21
T FJ-M20X1.5BJ [102] 77 | 30 [50[20{12.5] M20x1.5 [34]40] 30 | 25
FJ-M27X2BJ | 145|109 [40.5]70(30[18.5] M27x2 |50[60] 43 |37
FJ-M36X2BJ | 168 [127.5/39.5|80]35| 19 | M36x2 |57 7049543 [28.5

3.165

www.emc-machinery.com





